Answers to final exam NYB Fall 2013

Lo —2 ploralie 2 a)Eln\zx—1\+21n(x3+1)—5arctanx+c
o)
V9 + dx? 2 2
1/4 2
b) —larccosz(Zx) _r <) l[x4 sin(x2)+2x2 cos(xz)—2sin(x2)]+c
4 . 14 2
1 cosg(5x) 1 V1-x° ’
d) —-— ln‘cos(Sx]—i +c e) —— +c
5 2 3 X

1 x=5 Yoz /4
3. a) lim arctan(z] =Z b) lim 2+tanx =2

X0 5 x—0" x
1 a2
4. a)—— b)e ~¢) —
) 3 ) ) 5
4 3/2 3/2 ,,
5. gunirsz 6. a) 277:... x(— x° +3x—x2)dx b) ﬂJ‘ (1+3x—x2) —(1+x2)‘ dx
0 0
7. 2In 2+\E)ﬁ 8.y=3—% 9. conv. to 3z
3\/5 2 2x-
10. a) conv. by comp.test or integral test b) conv. by ratio.lest
¢) conv. by Root.test d) Div. by Divergence test

11.a) conv. by Alternating series test and div. by Limit Comparaison test. Soit is conditionally

convergent.
b)Absolutely Conv. By Ratio test

T
12. a) conv. telescoping sum= —g b) Geometric conv. sum = 5

13.a) Conv. b) we can notsay anything about this series as x=5 might be the other end point of interval of
convergence c¢)Conv. d)Div.

14. R = l and the interval H<x$B
9 9 9

1 1(x=5) 2 (x-5) +£(x—5)3 24 (x-5)

15.a) ——+—
3 9 27 2! 81 3! 243 4!
e8]
1 ni1 (x=35)"
n=1

Page 1 of 1



